1. sievofl&6i LOOHMID Si6v0fl &G & em 616l 60T
LIWI60TLIM (b 61T

uwind 11

1.(4) p(A)=2 (i) p(A)=2 (iii) p(A)=1 (iv) p(A)=3
v) p(A)=2 (i) p(4)=2 (vii) p(A)=3  (vii) p(4)=2

2. p(AB)=2, p(BA)=2 3. x=1,y=3,z=5

1 1 —7
4, x—ﬁ(7—l6k), y—ﬁ(3+k), e=k 5. x=2,y=1 2=0 6.A=—
7. x=1000, y=2000, z=500 8. x=1000, y = 2200, z =1800
® udnhé 1.2 ®
1.(i)) x=8, y=-3 (ii) x =1Ly =4 (i) {x, y, 2} = {2, =1, 0}
11

(iv) {x, v, 2z} = {1, 2, 3} (v) {x, y, 2} ={—1, E’g}

2. QsMPleoneTE&STET Qb S0 Fe] 10  WHEOLNHSTET Qb e0d ageey X 16

3
3. 42% -60 (p&H6E0h OFLWILULL agTemas < 7,300

1

65 %-60 (PpHEO(h AFLWILLLL aFTema X 1,300
4. @glewn saunflssmer weooflGHT eurLems I100 wHmID

FHleur emusd Feumflésneot evofl GBI eumLema X120
5. {x,y,2} ={2,3,1}
6. 2% -6b (Pp&6Ed QFLILIILLL S aFmenad I250

3% -6d (W&o AFLIWLLLL & sTemnd 34,000

6% -6éd (W&HEOBb AFLWILLL S OsTemd 34,250

uwind 1.3
1. 36% 2.(i) 54% ,46% (i) 50%
3. A=56.25%, B=43.75% 4. A=33%,B=67%
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uind 1.4

1 2 [ 3|4 |56 |7 |89 /|10]|11|12]13
(d) | ®) (@) | (c) | (d) | (b) | (®) (b)| (a](c)](c)]| (D) (c)
14 | 15| 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25
(b) | (0 | (&) | (b) | (b) | (a) | (@) | (b) | (c) | (d)| (c)] (a)

85T 560018 &6iT
l.p(A)=2 2. p(A)=3 3. p(A)=3

4.08MbésIULL FDETUML (bS BTG 6BRISNL ADDE CLID Si6y HenLIITE).

5.k = 8.

6.k = 0 36y k-601 OO SIS EDEHS OBM(bSHSLILLL FOTUM (b OBMGLIL| QBRIGEDLO6)] HDDE.
7.x=1, y=2 womib z =2

8. @ Heom Cangemwullen elemed I30, e &G sis&HemTuUleT aflemed T40 LHMID 6
&HBeom aiflflulleor elemen I50.

9. A,B wopmib C gpdlweupmimaner s1@ eishiser (pemmGuw 32, 34 wopmib I11 Sy@&Lb.

10.39%
® 2. FNems 56001 &H6v0flFHLD — | ®
uind: 2.1
2 2 81x° 16 13x° 5%’
1. =(3x+5) +c 2. ————-T72x+c 3.6x——————
9 5 3x 2 3
O 2 2
4. £_4x2 +2x2 +¢ 5. (4x+7) _(4x+7) +c
9 5 3 2
1 > > 13 X 13
6. gli(x+1) —(x—l) +c 7. bzz,cz—z,f(x):7+?x—2
8. ¢=-20,f(x)=2x"-x*-20
uuind: 2.2
4 3
L. x2+llog|x|—2x+c 2. x—+x—+210g|x—1|+c
2 4 3
3 3
3. x?—x2+4x—810g|x+2|+c 4. x?—x2+3x—4log|x+5|+c
5. 1110g|x—3|—810g|x—2|+c 6. log|x+1|+3log|x—3|+i+c

(x+1)
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7. log|x’ —x* +5x—5|+c 8. C=£,f(x)=log|x|+%

ulind: 2.3
ax . n+1 1 1 . - e3x
1. +a'x— +c . —— +c 3. e +e + +c
loga n+l a*loga b logh
2x —4x 4x X 1
4, ¢ +e +c 5. e—+c e( +")+c
2 4
7. +c czl,f(x):ex+1
log x

uind: 2.4

1. 2sinx+3cosx+4tanx+5cotx+c

3. tanx+c

1. —e_"(x+1)+c

4.

tanx —cotx+¢c¢

ulind: 2.5

3

1
2. ——cosx+—cos3x+c
4 12

5. —[sinx+ cosx]+c

3. x(logx—1)+c

2 n+1
® 4 X lo x—l +c 5 X lo x—L +c 6. € 2 ®
S % T G A ' 2( 2x +2)
uind: 2.6
1 1
1. log‘x2+5x—7‘+c 2. Zlog‘x4+1‘+c 3. Elog‘ezx—2‘+c
(logx)4 2 4/, :
4, ) 5. 232 +7x—1+¢ 6. —(x +x+1) )
4 3
7 i(1+x9)6+c 8 x“+e'|+c 9. log|log x|+ ¢
54 e
1 x? =2 1
10. —lo +c 11. xe"[lo xe” —1:|+c 12. log|x|——log|x* +1|+¢
10 2P+l g( ) 8l 2 g‘ ‘
X X 3x
13. S4c 14, — ¢ 15 S—+¢
X (x+1) 9x
uind 2.7
1. |3+4x 1. |9+x 1 fx 3,
1. ﬂl - 2. —log +c 3.
" 4x 10 °l1—x 6\/5 8 xr3l
1 -2 +1 1
4. —log Al 5. log e 6. —1 og e
3 x+1 x+2 x+4
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7. %log ex_i +c 8. élog 3x+\/9x2—7‘+c 9. log (x+3)+\/x2+6x+13‘+c
e +
10. log(x—2)+\/x2—3x+2 +c 11. ilog x4+\/x8—1‘+c
1
(x+2) 3 1
12. T\/1+x+x2 +§log (x+5)+\/1+x+x2 +c
13. gx/xz—Z—log x+\/x2—2‘+c 14. i[Zx\/4x2—5—510g2x+\/4x2—SH+C
15. (%H)V2x2+4x+l—glog\/5(x+1)+\/2x2+4x+1+c
x* x 2 1 5
16. ———=Vx"—-1+—=loglx+Vx~ —1+c
2 2 2
uind 2.8
I 1 1. [5 1+¢°
I:1. E[e —1] 2. P 3. Elog[gjl 4. log|: :|
1 3 11 1
5. —le—1 6. — 7. log| — 8. 2 9. —|2log2—-1
1) 8 og| 3 2log2-1]
® IT:1. 37 2. 4 3.1 4. c=4 ®
uind 2.9
1.0 2. = 3.0 4. = 5.0 6.
2 4 5
uwimd 2.10
, 1057w . 6! .3 ] 1
1.(i) 6 (i) == i) @) W ()t 2. i
uuind 2.1
9 1
1. — 2. 4 3. 14 4. —
2 3
uwind 2.12
1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15
(b) | (0) | @ | (@) | (@) | ®)|®) (]| ()| Db/ D) b/ Dd /@
16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
(d) | () | (© | ()] @ ]|®) Db ()] @)@/ @)/ b/ @/]Dd), (@)
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4.

B30 & 60018 & 6IT

2+ x
—2x

J2x+2x - ‘+c

G )\/9x2+12x+3—élog(3x+2)+\/9x2+12x+3‘+c
1 3 x* 3x°

5|:(x+1) logx—?—7—3x—log|x|:|+c

1|e* -5 14
xlog(x—\/x2—1)+\/x2—1+c 8.0 9. _|:e > :| IO.E

3
%[x+2 +x+3) ]+c 2. —log

X
z 3——1
2 °%

3. 5Nems [Hl600T&H6v0fIFHD — Il
uwind 3.1

2

. . a . 3 .
. 5 s.o00@ 36N 2. 2 &.9160&H6T 3. T F.3160 G BH6IT 4. 5 &F.3160 G H6IT

17 8 . 32 .
? FA0GH6T 6. 5 &F.3160&H6IT 7. ? F. D& H6I

uwind 3.2

2x -1
. 228,000 2. yz( al ) 3. P=8-2x, R=8x —2x>

10.

13.

15.

16.

3x+2
34,419 5. 35,680

3

0.
ewnss egeeyd amiy: C =100x — 5x% + 3x + 500,

2
500
gonarfl egeoeys gmiy: AC =100x —5x + % +—
X

1500 1500 :
ewnss egeeyd aniy: C = Tx , ennar] ageeysd iy AC = Tx

aseeys smiy: C=2vax+b—-2Jb 9. T14,133.33

4
ewnss eueurmit: R = 35,95,000 11. Gaemeusd angy: P=9— %

BGxemeus gmiy: P = 20e 10 14. eugeumis &miy: R =13x —0.065x> —120

eumeuml &miLy: R =1500x —2x* — x°, agnad] eupeumtis amiy: P = 1500 — 2x — x°

2 3
3x X 3x x°

eu(Heuml &miy: R= 10x+7—? , Gxpemeu FMIL: P—10+?—?
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17. ewnsgg ageeyd aniy: C = 4000~/ 7x + 4 + 18000,

gonarfl egeey: AC = 4000 N7x+4 + 18000
X X

2 2
x 5x
18. ewngs ageeys gmiy: C = e + 5000 19.eu@peumis &miy: R =20x — - +x°

20. Gzemeu angy:P=14—-3x+ 3x”

uwind 3.3
1. C.S.= 400 sieo@&er 2. C.S5.=378 sieo@&ern 3. C.5.=562.50 sieo@aeit
1 . 25 . .
4, C.S:E[l-logeZJ DG SHET 5. P.S:? DI G SH6T 6. P.S=237.3 sieo@&eir
3 32000
7. C.S= 3610g5 —12 si0Gs6T 8. — D160 GSH6IT

1
9. C.5=(8log2—4) sww&aer,P.5= L 205

1024
10. C.S:T sevGsH6T, P.S = 64 sio@aser 11.C.S=24 sieo@ser, P.S=16 sieo@aser

uwind 3.4

1 | 2|3 |4 |56 |7 |8]9]|10]11]12]13
(€ (b) | (@) | (c) | (a) | (a) | (d)] ()] (b) | (a) ] (a)](a) (b)
14 | 15 | 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25
(©) [ () [ (b) | (a) | (b) ] (a) | (c)](a)](c)](a)](b)](c)

B30 & 60018 & 6IT

4 3
1. 1,900 2. C=3%3,125 4.R=6x—x3—%, p=6—x2—xZ
x2
5. @eomu& gmiy: P =10x —4—0 —100.
40 . 32 . .
6. C.S=? SV GHET , P.Szg S0 G H6IT 7. 52,770 sie0@&6it
3 5
76 1 3
8. lel—% 9. 5 comesd 10, g{(z) —1} 5. SD@EE
4. UenSHS C1&(IQF FLOGITLIMT(HS6M
uwind 4.1
L.(i) (1,1) (ii) (3,1) (iii) (2,2) (iv) (3,1)

(v) (3,3) (vi) (2,1) (vii) (1,4).

: dy dy (dyY . (dyY dy dy
2. —xL+2L | £ L —4xyL 48y =0 =2 =0
@y xdx dx (dx) (if) dx xydx 4 (iif) y+xdx
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| ———TT T ® O o
d &y ay | d
- Y 2| 4y 4 Y
2. +9v—=— =0 3. — =1+ = 4, — a7
() % ydx r(dxz) [ (dx):| Y xdx
&y (drY 22, dy y . ()
5. 20=2+| 2| =0 6 y=xt+22 7. y=2xZ4y| 2L
adxz (dx) yo=r xydx 4 xdx 4 dx
uwind 4.2
x2 2 3
1.(i) e/ +ax+c=0 (ii) logx+?:y7+y—+c 2. logx—x=logy+c
3.(i) Xx=¢y (ii) log(l+y)=—e"+c¢ 4. (14sinx)=c(1+cos y)
. o) ax _ by
5. (x=D(y+D=c  6.() logy=—2Tic (i) =8 4
a
7. (y—b)zz(x—a)2+b2—a2
uuind 4.3
y —2x
L. x=ce* 2. x+y=ke*™ 3. y+4x*+ P =x’c
x2
4. 3y" —4yx+3x" =x'c 5.(xy—y2)x=c 6. y\/yz—xZ:Zx/gxs 7. y=ce”
uwind 4.4
6
1. X=x+c 2 yesmx:esmx(sinx—l)+c 3. x2y=?+c
X
® 3 i ®
4. y(1+x3):x+%+c 5. xyzex(x2—2x+2)+c 6.ysecx=%(x+smzzx)+c
7. ysec’ x=secx —2 8. x’e" —2xe" +2e* +c 9.%2,22,550
uind 4.5
1. y=Ae** +Be" 2. y=(Ax+ B)e* 3. yze_x(Acos\/Ex+Bsin\/5x)
k e e 1y = e
4, =(Ax + B)e™ 5. = 6. y= 2 2 i
y=(Ax+B)e y 5 20 y=Ae? +Be® + o1
: x 3 2x e3x
7. y=Acos4x+Bsin4x 8. y=e" ——e +7
3x
9. y:Ae_3x+Bezx+%—— o 10. y=(Ax+B)e5"+2x2e5"+%
-7
11 -3 = 3y 12 v=Ae** + B ?x+ 2x 13 —4t 2t
" y=Ae? +Be’ + xe? -y =Aae € xe - p=Ae " +Be” +2
uwind 4.6
1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13
(@ | (d) | (@ (b)) @ @ (@] (]| @](E/]|D)] @ Mb)
14 | 15 | 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25
(© 1 (d) | (@ |[(d)| (@@ (b)) (]| @/ @, @,]@ (@)
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B3I & 60018 & 6IT

d’ d
1. p= Ae ™™ +Be” +3 2. xz—}Z/—Zx—y+2y=0 3. ex(x2—2x+2)+logy=c
dx dx
3,2 )3 6
4. x(l+L2J =c 5. yxzzx—+c 6. cm? = 2(m+6)
x 6
7. 6y= (62 +e)ex —(62 +e+ l)ezx +e** 8. ye™™ =2e" +¢
3 2
9. 10gy=3x—2+c 10. log|1+y|=x+x7+c
Y

5. ere6vur6v0fludled (LpemmE 6T
uwind 5.1

1. log(1+%j

2. —2
5.
SIS RS o
1 6. 31
1 0 4
5 6 . ..
2 5 10 0 7. 445 @evl_grhismer
15 6 0
320 16 0 8. 3 whHmoub 24
@ 31 6 @
4 51 22
53
5 104
uwind 5.2
1. 6.8 2. 32,900 3. f(x)=2x"—7x*+6x+1
4.36.784 (@eoL&rhuser) 5. 197 6. 15.45
7.286.96 8. 27.992 9. 108.75 (gpuiimb Ledraeir)
10. 41 pugeer 11. 476.25 @eolsmmer 12, 53
uwind 5.3

1|2 3|4 |56 |7 |8]|9 10|11 |12]13]|14
(@) | (©) | @) | () | (d) | (@) | (c)](c)|(c)] () (a)](c) | (b)](b)

B30 & 600185 & S 6IT

3. f(x)=x"=3x+1 4. 14.25,23.5 5. 128.5
6. 189.79, 286.96 7. 5281, 6504
2 100
9.y=§x4—8x3+7x2—56x+31 10. y=x"—8x>+19x—12
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6. sweumiiy L) MHMILD &HevorSHAHWIED 6T SITLMT HHD

P(X <k)

0.3

X= X,

R

oo

0

P(X = x,) [
4

. epily : j f(x)dx= _f f(x)dx+ j f(x)dx+j f(x)dx

uwind 6.1
0 , x<3
P,(3)=0.3 , 3<x<5
2. Fy(x)=1Py(3)+Py(5)=05 , 55x<8
0.5] 09] 1 P.(3)+ P, (5)+P,(8)=0.8, 8<x<10
_1 , x210
1 2
— 6. (i) 1/10, (ii) 81/100, 19/100, 8/10 (iii) 4
2 4

N _l, _1r el el
. (l)k—E,(zz)f(x)—Z(x 1)°,1<x<3 9 A 5,(1)62,(11) ; , (i) =

0, x<0
l 0<x<l1
® 27T | 3 | ®
10. (a) &b, f(x)=40, 1<x<2  b(i) " (ii) " (iii) "
l, 2<x<4
4
0, x>4
uind 6.2
1.3.5 2.1.8 3.0.78 4, g 5. E, é 6.3 60
3 24
12. erflirunmg sseo: X 200; wmmune: X 21, 60,000; HL efleodso: X 1,469.69
13. 30 (=660 30,000 emievaser) 14. erlFumissed: 1; ommunc : 9 15. 20
uwind 6.3
1 2 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15
(|| b)) B ||| ] @] @,/ (@©]:@)
16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
®) [ ()| (@ [ (d) ()| ® | ()] ()] @ b/ DbB]D]MbB b
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B30 & 60018 SH6iT
1. (i) % (i) % (iii) % (iv) %

2. (a) (i) 13/24 (ii) 0

(b) F eyeorg Lig&amiy @evemen ereiruigpmed X eredruigy) Foeumiiiy omilwing béssng.

4. (a)é (b)g 5.0 2,8 i) 2 7.1 9.3, 2 o

3 1
’ 5°5 25 4 80 2

N | =

1.
’
7. H&105&6) LITeuedS6T
uwnd: 7.1
6. (a) 0.059 (b) 0.2642 (c) 0.0133 (d) egmefl = 1 wHOID wrMLUTG = 0.95
7. (i) 0.01008 (ii) 0.000262 (iii) 0.09935 8.0.375 9.0.65536
10. (i) 0.3969 (ii) 0.45212 (iii) 0.9797

11. 5 sieveng sipm& GooulL Gengemenrser 12.0.7530

13. (i) 703 (ii) 516 (iii) 656 14. (i) 0.0634 (ii) 0.0634 (iii) 0.9729
25\( 1 X 4 (25-X) 3
15. 25/216 16. (2 17. = 18.0.2626 19.0.8743
x \s5) s 4
80 192
20. (i) — i) —=
Ve ) 223

uind: 7.2
6. 0.2352 7.0.0025 8. (i) 0.2231 (ii) 0.1912

9. (i1)0.08208 (ii) 0.2138 (iii) 0.1089
10. (i) 2 mmenaerr (ii) 91 mnerser (iiii) 43 mmeTaerr
11. 0.0265 12. (i) 0.1353 (ii) 0.3235
uwinél: 7.3
5.(i) 67 (ii) 134 (iii) 1637 6 (i) sgnafl = 60.48  (ii) HlLefevdsd = 19.78
7. (i) 0.9772 (ii) 0.49865 8. (a) 46  (b) 46 (c) 342

9.0.719 10. (i) 0.2420 (ii) 0.8413
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1 2 3 4 5 6 7 8 9 [ 10 | 11 | 12 | 13

14

) (@ (©  (© () (@ (b)) (@] ]|/ @/](@/@d

(b)

15 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25 | 26 | 27

28

(d) | () (d) (| () (d (@) @/ ®)]b) @/ @/ @

(d)

B3I & 60018 & S 6IT

1. (i) 0.89131 (ii) 0.34173 2.0.03295 3.0.98981
4. 0.0067379 siee0g 6.7379 x1073 5.80.33%
6.a) 0.4013 (b) 0.3413 7.a) 30.85% b)37.20% c) 10.56%

8.a) 0.9938 (b) 0.9878 (c) 0.3944 9. 0.2119 10. 7

8. sa.mBLIL (PemMS&EBLD LiaTerflullied SignomenflHs@Iwn

uwind 8.1
17. 0.008 18.0.9487 19.0.2739 20.0.025

uwind 8.2
14. |z| = 1.667 15.1.2308 16. ]z =5

uwind 8.3
1 2 3 4 5 6 7 8 S 10
(@) | (b) | (@) | (b) | () (@) | ()  (b)] (c) | (a)
11 | 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
(@ | @ | @ ()] ®) ] b) @]/ @]I()

B30 & 60018 & 6IT
5. 0.015 6. (a) (66.86,68.04) (b) (66.67,68.22) 7. |z| =2.67

9. LwedTumL (bl Yemerflufwied

uwind 9.1
13. umeusned GMuibaer
18.6 20.8 18.8 20.8
3.72 4.16 3.76 4.16
94.1772 105.3165 | 95.1899 | 105.3165

ewrsds sangifl = 3.95

17.3.536
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14. cedTm) S6toT(h HMEVSHEWSHS O\SHM6TOTL H&IHLD FTm&f]

1987 1988 1989 | 1990 | 1991 | 1992

SRR 46410 | 52010 63040 | 79470 | 94050 | 102450
HBIHLD o (bH6D
CAPETD] 8601 15470 | 17336.666 | 21013.333 | 26490 | 31350 | 34150
BBIHLD FTNE]

DH&| S600T(b HTEDHEWSHS C\&HM6U0TL. H&HIHLD SIS

1981 | 1982 | 1983 | 1984 | 1985 | 1986 | 1987 | 1988

SR BB 619 | 617 | 624 | 621 | 615 | 619 | 613 | 606
hSHIHLD Fn(hSH6D
CEE RO 1038 | 1234 | 124.8 | 1242 | 123 | 123.8 | 1226 | 121.2
H&SIHD Fonail

16. Gums@sGsMLIq 60T euemTLL (LWemm

70
60
50
@ 40
30
20
10

’

1>
X' 19£4 1986 1988 1990 19921994 X

17.a=169.428 ;b =3.285; Y =169.428 + 3.285 X

18.a=54;b=54; Y=54+54X
X = 2000 erevfled, Y=54+54 (2000-2002) = 43.2

A

X =2001 erevfled, Y = 54 + 5.4 (2001-2002) = 48.6

A

X =2002 erevfled, Y = 54 + 5.4 (2002-2002) = 54

X =2003 erevfled, Y = 54 + 5.4 (2003-2002) = 59.4
X = 2004 erevfled, Y = 54 + 5.4 (2004-2002) = 64.8

19. ugd sonafl [ = 276.666
ugd somarfl II =213.333
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______ NEEN .

20. wrempdHr sxradl Gnuibser

= =
= = . 2 | 3 3 ‘= =
¢ ¢ | B Bl a|B| & B|Q| 5| 3| 2
é 3 q 'g\ €9 % Es ) 3 .et% a b
8 9 & B L | o
GO 53 61 | 54 | 43 42 | 51 | 62 | 54| 52 | 51 | 49 | 53

OO HHLD

LONSMbSIT
Fnarf]

17.7 1203 | 18 | 143 | 14 17 1207 | 18 | 173 | 17 | 163 | 17.7

LI(H6USTED
SO b 101.7|116.7|103.4| 82.2 | 80.5 | 97.7 |119.0|103.4| 99.4 | 97.7 | 93.7 | 101.7

ewrss sonafl = 17.4

21. ugpeu &med GMIuIhaein

74.4 71.6 72.4 72.8
H(beUSITD 102.19 98.35 99.45 100
SOOI b6
® ewngg eonafl = 72.8 ®

22. a=488;b=2; Y=488+2X
X = 1992 ereufled, ¥ = 48.8 + 2 (1992-1994) = 44.8
X = 1993 erevfled, ¥ = 48.8 + 2 (1993-1994) = 46.8
X = 1994 erevfled, ¥ = 48.8 + 2 (1994-1994) = 48.8
X = 1995 erevfled, ¥ = 48.8 + 2 (1995-1994) = 50.8
X = 1996 erevfled, ¥ = 48.8 + 2 (1996-1994) = 52.8
X = 1997 erevfled, ¥ = 48.8 + 2 (1997-1994) = 54.8

uind 9.2
14. eomevldwi @MU (b eretor = 144.8 urmd @S eredor = 144.4
15. eomevldwii @MU (b eredor = 164.5 urd GMUSL b eretor = 162.4
16. eomevldwi @mUSL (b eredor = 106.6 urnd GBS eredor = 106.8
Soll6qf @&mMIuiL b eredor= 106.7
17. Sol96qf @&mUSL (b, eretor = 138.5 smeonhmF Cengemeor= 1
&mrevofl onHmiF Gansemenr = %
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18.

19.

20.

21.

22.

14.

15.

16.

17.

18.

19.

20.

21.

Sl96qf &muil b eredor = 83.6

SLegi &MU eretor = 122.314

sneownHmis Gangemenr = 1

auMpsemsS &I GBUIL (b eretor =2662.38

UMP&Hem&S ST GMUIL (b erevor = 117.31

aunpsemss I GBI b erevor = 130.6192

uind 9.3
X =162, UCL=2049, CL=162,
R =74, UCL = 15.65, CL = 7.4,
X =462, UCL=50.14,  CL=462,
R =6.8, UCL = 14.38, CL=6.8,
X =377, UCL=48.14,  CL=377,
R =18, UCL = 38.07, CL = 18,
X =10.66, UCL=1431,  CL=10.66,
R =6.3, UCL = 13.32, CL=6.3,
X =125, UCL=1271,  CL=12.5,
R =037, UCL = 0.78, CL = 0.37,
X =301, UCL = 44.75, CL = 30.1,
R =20.1, UCL = 45.87, CL = 20.1,
X =13.25, UCL=1553,  CL=13.25,
R =3.12, UCL = 7.12, CL =3.12,
X =41, UCL = 43.31, CL = 41,
R =14, UCL = 8.46, CL = 4,
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LCL=11.91

LCL=0

LCL = 42.26

LCL=0

LCL =27.26

LCL=0

LCL = 7.006

LCL=0

LCL =12.28

LCL=0

LCL = 15.45

LCL=0

LCL =10.97

LCL=0

LCL = 38.7

LCL=0
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| T T T ® (. T
uind 9.4
1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13
(d) | () [ (d) | (d) | (c)| @ |(c)]| ()| () (b) (@ (] (c)
14 | 15 | 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25
(d) | (@ | ()| ()] () (@] ()]|® @@ /] (@
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10.

B3I 560018 & 6IT

302.67, 327.

HT60TS SH600T(h HHIHLD FTME]
708.75, 729.25, 748.25, 768.25, 784.5

Y = 55.975+ 0.825X
eomeolwig= 49.9

Uleqr =139.8

. CLPEOTM) S600T(h HSHLD Fonal 148, 149.33, 152.33, 168.33, 253.33, 261.33, 281.67,

urdl = 50.32  9eqi = 50.09

misTGeuni elemed GmuiL (b erevor = 118.77

anpsenadar &muiweredor CLI = 126-10, 2011y yevorem. 2010 46001 60T

UIbenauled, eumpsbensd GBS eretor 26.10% 248 siflaflSaeens).

gon&fl euemIUL &L (bLILIM(H 6UTLDL&HET
LCL = 47.56

CL =51.2

UCL =54.84

gon&fl euemIUL &L (bLILIM(H 6UTLDL&HET
LCL =1120.83

CL =1367.5

UCL =1614.17

gon&fl euemIUL &L (bLILIM(H 6UTLDL&H6T
LCL =4.774

CL =4.982

UCL =5.19

eli&a elandHaLILL. &L (bLILM(h GUTLDLSET
LCL=0

CL=6.3

UCL =13.32

eli&a elandHaLUL. &L (bLILM(h GUTLDLSET
LCL=0

CL =427.5

UCL =904.16

eli&a elandHaLUL &L (bLILM(h GUTLDLSET
LCL=0

CL =0.36

UCL =0.7614
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10. QFWEO(PEDMSBET SpTMLIFH]

uuwind 10.1
5. X1 =16, X1, =3,X,, =15, X553 =22, X33 =9, X3, = 25
eIoNss 61§66y = X 580
6. X;; =30, X5, =5,%X5, =28, X33 =7, X33 =25, X3, =25
enss 6gee] = X 1,076
7. X =15, X3 =10,X,5 =35, X5, =15, X3, =25,
enss 61§66y = X 580
8. X =L X,=5,%X,=1,%X3;,=6,X33=3, X3, =1,
eNss 61§06 = X 102
9. X, =10, X;3 =20,X%,, =20, X5, =20, X,, =10, X3, =20
enss 61Feey = X 370
10, X1 =3, X, =1L,Xy =2, X3 =4, X5y =2, X3y =3,X35=6
eNss 61Fe6] = X 153
®
1. (1) X =7, Xy, =3,Xy, =9, X3, =1, X33 =10,
GION5s 61§66 = X 94
(i) X;3=7,%Xy; =10,X,3 =2, X3, =10, X33 =1,
eS8 61§66 = X 61
(iii) X;; =7, X5, =2,X,, =10, X5, =1, X3, =10,
eWNss 61§66 = X 40
12, X;; =200,X,, =50,X,, =175,X,, =125,X5, =150,X;, =250
eNss g6 = X 12,200
uwim&l 10.2
4. 46 5.280 6. 41 wevofl&er 7.37 8.12
uuimé& 10.3
1.(1) S, (ii)S, 2.(a) vy C  (b) vudF B wopmud LuF C

3. (i) LlemL eqmbL] (ii) pLemL eqmby 4. (i) A, (ii) A, wopmid A,
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uuihél 10.4

1 2 3 4 5 6 7 8 9 | 10 | 11 | 12

13

14

(@) | (@) | (c) | (0) | (@) | (@) | (c) | (c) | (d) | (b) | (d)| (b)

(d)

(d)

85T 560018 & & 6IT
X1 =5 %Xy =2,%X,, =6, X3, =3, X33 =4,Xy; =14
eNss 61§66 = X 102
(a) X, =10 X3 =20,X%,, =30, X,, =20, X,, =10 ,X;, =20
(b) X;; =10 X3 =20,%,, =20, X,, =20, X,, =10 ,X;, =20
enss 6Fee] = X 370
X;; =15 X3 =10,X,3 =35, X3, =15, X3, =25 , %3, =20
enss 61Fee] = X 560
Xip =1 X, =5,%, =1, X3, =6, X33 =3 X3, =1
enss eFee] = X 102
A—>e,B—>c,Co>b,D—aE—d
SOMBILILFLD 6HTeme06y =570 emLoed&6IT
1-11,2—58,3—>7,4—>95—>10,6 >12
GSEMMBSHULED 6HTemeoey=125 &5
(i) sLeTuSHTRI&GeT : 6000

(i) urki@ e : 1000
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